PLANT ENTERPRISES PRODUCTION

| | Number of | | Yield per | Total | Units of | Gross Farm |
|---------------------------------|-----------|-------|-----------|------------|------------|-------------|
| Crop | Producers | Acres | Acre | Production | Measure | Value |
| FORESTRY | | | | | | |
| Pulpwood | | | | | | |
| Hardwood | | | | 73 | cords | |
| Pulpwood (Total) | | | | 73 | | |
| Saw Timber | | | | | | |
| Hardwood | | | | 14,343 | board feet | |
| Saw Timber (Total) | | | | 14,343 | | |
| Total Pulpwood, Chip & Saw, | , | | | | | \$10,822 |
| Saw Timber FOB Mill | | | | | | |
| Total Forestry Stumpage | | | | | | \$5,921 |
| Forestry (Total) | | | | | | \$10,822 |
| FRUITS | | | | | | |
| Blackberries | 15 | 7.0 | 2,500.00 | 17,500 | pints | \$17,500 |
| Blueberries | | 5.0 | 2,000.00 | 10,000 | lbs. | \$12,500 |
| Citrus | | | | | | |
| Satsumas | 50 | 20.0 | 400.00 | 8,000 | bu. | \$80,000 |
| Other Citrus | | 2.0 | 350.00 | 700 | bu. | \$5,600 |
| Citrus (Total) | | 22.0 | | | | \$85,600 |
| Figs | 25 | 25.0 | 350.00 | 8,750 | lbs. | \$10,500 |
| Fruits (Total) | | 59.0 | | | | \$126,100 |
| HOME GARDENS | 6,000 | | | | | \$1,800,000 |
| NURSERY CROPS | | | | | | |
| Floraculture & Bedding Plants | * | | | | acre | \$950,000 |
| Woody Ornamentals | * | | | | acre | \$475,000 |
| Foliage Plants | * | | | | acre | \$100,000 |
| Nursery Crops (Total) PECANS | | | | | | \$1,525,000 |

| PΙ | A | NT | $\mathbf{F}\mathbf{N}'$ | FFR | PR | PICEC | PRO | DII | CTION | |
|----|----------|----|-------------------------|--------|----|---------|------|------|-------|--|
| | | | 1717 | יועו ו | | כועוכוו | 1111 | יטעי | | |

| | | PLANI EN | <u>LERPRISES PI</u> | RODUCTION | | |
|--------------------------|-----------|----------|---------------------|-------------|-------------------|--------------|
| _ | Number of | | Yield per | Total | Units of | Gross Farm |
| Crop | Producers | Acres | Acre | Production | Measure | Value |
| PECANS | | | | | | |
| Improved | 12 | 25.0 | 100.00 | 2,500 | lbs. | \$2,875 |
| Native | 250 | 1,200.0 | 40.00 | 48,000 | lbs. | \$28,800 |
| Pecans (Total) | | 1,225.0 | | | | \$31,675 |
| RICE | 10 | 715.0 | 48.60 | 34,749 | cwt. | \$192,857 |
| SUGARCANE | | | | | | |
| Raw Sugar | 115 | 63,000.0 | 5,600.00 | 352,800,000 | | \$43,041,600 |
| Molasses | | 63,000.0 | 168.00 | 10,584,000 | gal. | \$1,534,680 |
| Sugarcane (Total) | | 63,000.0 | | | | \$44,576,280 |
| VEGETABLES | | | | | | |
| Broccoli (Fresh) | * | 7.0 | 375.00 | 2,625 | cartons (20 lbs.) | \$39,375 |
| Cabbage | | | | | • | |
| Fresh | * | 15.0 | 600.00 | 9,000 | sacks (50 lbs.) | \$63,000 |
| Cabbage (Total) | | 15.0 | | | | \$63,000 |
| Eggplant | 25 | 10.0 | 600.00 | 6,000 | bu. (33 lbs.) | \$90,000 |
| Garlic | 6 | 5.0 | 8,000.00 | 40,000 | lbs. | \$120,000 |
| Irish Potatoes | | | | | | |
| Fresh | 20 | 15.0 | 200.00 | 3,000 | cwt. | \$90,000 |
| Irish Potatoes (Total) | | 15.0 | | | | \$90,000 |
| Mustard (Fresh) | 25 | 15.0 | 650.00 | 9,750 | doz. bunches | \$68,250 |
| Okra (Fresh) | 35 | 40.0 | 350.00 | 14,000 | bu. | \$280,000 |
| Peppers | | | | | | |
| Cayenne (Processing) | 6 | 15.0 | 90.00 | 1,350 | cwt. | \$33,750 |
| Tabasco Red (Processing) | * | 15.0 | 70.00 | 1,050 | cwt. | \$73,500 |
| Peppers (Total) | | 30.0 | | | | \$107,250 |
| Shallots | 20 | 15.0 | 2,000.00 | 30,000 | doz. bunches | \$150,000 |
| Snap Beans (Fresh) | 15 | 12.0 | 200.00 | 2,400 | bu. (30 lbs.) | \$48,000 |

PLANT ENTERPRISES PRODUCTION

| Crop | Number of Producers | Acres | Yield per Acre | Total Production | Units of Measure | Gross Farm Value |
|-----------------------|---------------------|-------|-------------------|---------------------|---------------------|---------------------|
| VEGETABLES | | | | | | |
| Southern Peas (Fresh) | 10 | 8.0 | 100.00 | 800 | bu. (24 lbs.) | \$16,000 |
| Sweet Corn (Fresh) | 15 | 100.0 | 650.00 | 65,000 | doz. ears | \$195,000 |
| Tomatoes (Field) | 25 | 35.0 | 800.00 | 28,000 | lugs (20 lbs.) | \$420,000 |
| Vegetables (Total) | | 307.0 | | | | \$1,686,875 |
| TOTAL ALL PLANT ENTER | PRISES | | | | | \$49,949,609 |

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

| Fisheries | Number of Producers | Units of Production | Total Production | Units of Measure | Gross Farm Value |
|------------------------------|---------------------|----------------------|------------------|---------------------|---------------------|
| AQUACULTURE | | | | | |
| Crawfish (Farm) | 45 | 3,600 Acres in Prod. | 1,600,000 | lbs. | \$1,040,000 |
| Oysters | | | 40,000 | sacks | \$680,000 |
| Soft-shell Crabs | | | 1,400 | doz | \$28,000 |
| Aquaculture (Total) | | | | | \$1,748,000 |
| FRESHWATER FISHERIES | | | | | |
| Crawfish (Wild) | 60 | | 350,000 | lbs. | \$182,000 |
| Catfish (Wild) | | | 9,500 | lbs. | \$4,437 |
| Buffalo | | | 7,500 | lbs. | \$1,155 |
| Gar | | | 1,600 | lbs | \$1,475 |
| Freshwater Fisheries (Total) | | | | | \$189,067 |
| MARINE FISHERIES | | | | | |
| Shrimp | 170 | | 160,000 | lbs. | \$191,360 |
| Crabs | 50 | | 20,101,000 | lbs. | \$12,904,842 |
| Marine Fisheries (Total) | | | | | \$13,096,202 |
| FUR ANIMALS | | | 238 | pelts | \$1,261 |
| ALLIGATORS (WILD) | | | 21,000 | ft. | \$462,000 |

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

| Fisheries | Number of Producers | Units of Production | Total Production | Units of Measure | Gross Farm Value |
|---------------------|------------------------|---------------------|---------------------|---------------------|---------------------|
| HUNTING LEASES | 75 | 96,000 No. Acres | | acre | \$312,000 |
| | | Leased | | | |
| TOTAL ALL FISHERIES | S & WILDLIFE ENTERPRIS | ES | | | \$15,808,530 |

ANIMAL ENTERPRISES PRODUCTION

| Animal | Number of Producers | Units of Production | Total Production | Units of Measure | Gross Farm Value |
|-------------------------|---------------------|---------------------|---------------------|---------------------|---------------------|
| CATTLE & CALVES | | | | | _ |
| Steer Calves | | | | | |
| 300-400 lbs. | | | 561 | head | \$203,851 |
| 400-500 lbs. | | | 445 | head | \$186,012 |
| 500-600 lbs. | | | 231 | head | \$106,138 |
| 600-700 lbs. | | | 66 | head | \$34,320 |
| Steer Calves (Total) | | | | | \$530,320 |
| Heifer Calves | | | | | |
| 300-400 lbs. | | | 511 | head | \$163,576 |
| 400-500 lbs. | | | 429 | head | \$161,718 |
| 500-600 lbs. | | | 198 | head | \$84,332 |
| 600-700 lbs. | | | 66 | head | \$32,175 |
| Heifer Calves (Total) | | | | | \$441,801 |
| Yearling Cattle | | | | | |
| 600-700 lbs. | | | 198 | head | \$102,960 |
| 700-800 lbs. | | | 82 | head | \$46,125 |
| Yearling Cattle (Total) | | | | | \$149,085 |
| Cow-Calf Pairs | | | 82 | pair | \$59,040 |
| Cull Cows | | | 495 | head | \$163,461 |
| Cull Bulls | | | 35 | head | \$25,568 |

| ANIMAL ENTERPRISES PRODUC | CTTON |
|---------------------------|-------|
|---------------------------|-------|

| A:1 | Number of | Units of | | Total | Units of | Gross Farm |
|-------------------------|-----------|------------|-----------------|------------|----------------|-------------|
| Animal | Producers | Production | | Production | Measure | Value |
| Cattle & Calves (Total) | 125 | 3,300 | No. Cows | | | \$1,369,276 |
| HORSES | | | | | | |
| Brood Mares | | | | | | |
| Race Horses | 10 | 100 | No. Brood Mares | 60 | head | \$360,000 |
| Show Horses | 75 | 50 | No. Brood Mares | 10 | head | \$30,000 |
| Recreation Horses | 100 | 125 | No. Brood Mares | 20 | head | \$30,000 |
| Brood Mares (Total) | | | | | | \$420,000 |
| Stud Fees | | | | | | |
| Race Horses | | 3 | No. Stallions | 30 | mares bred | \$75,000 |
| Show Horses | | 75 | No. Stallions | 200 | mares bred | \$300,000 |
| Recreation Horses | | 60 | No. Stallions | 200 | mares bred | \$20,000 |
| Stud Fees (Total) | | | | | | \$395,000 |
| Race Horses | 12 | | | 150 | head | \$1,500,000 |
| Show Horses | 210 | | | 450 | head | \$1,800,000 |
| Recreation Horses | 600 | | | 1,500 | head | \$1,500,000 |
| Horses (Total) | | | | | | \$5,615,000 |
| POULTRY | | | | | | |
| Edible Eggs | 20 | 800 | No. Hens | 6,000 | doz. eggs sold | \$5,040 |
| Poultry (Total) | | | | | | \$5,040 |
| RABBITS | | | | | | • |
| Fryers | 20 | 900 | No. Animals | 1,800 | lbs. | \$1,440 |
| Does | 30 | 1,900 | No. Animals | 3,550 | lbs. | \$53,250 |
| Rabbits (Total) | | | | | | \$54,690 |
| QUAIL | * | 50 | No. Breed | 500 | each | \$1,000 |
| - | | | Stock | | | |
| SHEEP | | | | | | |
| Wool | | 200 | No. Sheared | 800 | cwt. | \$128 |
| Slaughter Lambs | | | | 150 | head | \$14,719 |

ANIMAL ENTERPRISES PRODUCTION

| | Number of | Units of | Total | Units of | Gross Farm |
|-------------------------|-------------|-----------------|------------|----------|--------------|
| Animal | Producers | Production | Production | Measure | Value |
| SHEEP | | | | | |
| Feeder Lambs | | | 60 | head | \$3,870 |
| Show Lambs | | | 70 | head | \$19,250 |
| Stocker Sheep | | | 30 | head | \$1,425 |
| Cull Sheep | | | 50 | head | \$1,750 |
| Sheep (Total) | 30 | 250 No.Breeding | | | \$41,142 |
| | | Ewes | | | |
| GOATS | | | | | |
| Show Goats | | | 15 | head | \$2,250 |
| Slaughter Goats | | | 60 | head | \$5,100 |
| Stocker Goats | | | 50 | head | \$3,250 |
| Cull Goats | | | 50 | head | \$2,100 |
| Goats (Total) | 12 | 100 No. Does | | | \$12,700 |
| SWINE | | | | | |
| Show Pigs | | | 220 | head | \$66,000 |
| Feeder Pigs | | | 320 | head | \$5,760 |
| Slaughter Hogs | | | 150 | head | \$18,525 |
| Culls | | | 40 | head | \$4,400 |
| Swine (Total) | * | 20 No. Sows | | | \$94,685 |
| TOTAL ALL ANIMAL | ENTERPRISES | | | | \$7,193,532 |
| IBERIA PARISH TO | OTAL | | | | \$72,951,672 |